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QUESTION 1

A new browser version has been deployed to all users at a company. After the deployment, users
report that

they can no longer access the company's secure time-card system, which is hosted by a Saa$
provider. A

technician investigates and discovers a security error is received upon opening the site. If the browser
is rolled

back to the older version, the site is accessible again. Which of the following is the MOST likely cause
of the

security error users are seeing?

A. SSL certificate expiration on the Saa$S load balancers

B. Federation issues between the SaaS provider and the company

C. Obsolete security technologies implemented on the SaaS servers

D. Unencrypted communications between the users and the application

Correct Answer: C

QUESTION 2

A cloud administrator has deployed a new all-flash storage array with deduplication and compression
enabled,

and moved some of the VMs into it. The goal was to achieve 4:1 storage efficiency while maintaining
sub

millisecond latency. Which of the following results would BEST suit the requirements?

A. Compression 1:1Deduplication 4:10verall savings 4:1Average latency 1.0ms

B. Compression 1.5:1Deduplication 1.8:10verall savings 2.2:1Average latency 600us

C. Compression 1.3:1Deduplication 3.1:10verall savings 4.3:1Average latency 900us

D. Compression 1.8:1Deduplication 2.7:10verall savings 4.2:1Average latency 1.2ms

Correct Answer: A

QUESTION 3

A cloud administrator is required to implement a solution to handle data-at-rest encryption
requirements for a

database. Which of the following would BEST satisfy the requirements?

A. Install an SSL certificate and only allow secure connections to the server.

B. Enable two-factor authentication on connections to the database server and log activities.

C. Activate memory encryption on the virtual server and store the certificates remotely.

D. Create a virtual encrypted disk, add it to the virtual server, and have the database write to it.
https://certificationstime.com/updated/cv0-002-exam-dumps-pdf/

Correct Answer: D

Explanation/Reference:
The question talks about data at rest. The only option given that offers a solution for data at rest is to
Encrypt the disk that the database writes to.

QUESTION 4

A cloud-based web store is experiencing poor website performance and unavailability. Which of the
following

approaches would prevent the issue without administrator intervention?

A. Install and deploy a load balancer in the front of the web server.

B. Increase the computing resources to the web server.

C. Increase the network’s bandwidth to handle the spike.

D. Partner with a cloud provider to scale the required resources as needed.

Correct Answer: D

QUESTION 5
A company is implementing a SaaS solution with a large user base. Saa$S solution licensing is user
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based, and

user management is critical to keep the cost in check. Which of the following is the MOST efficient
way to meet

this requirement?

A. Have the administrator of the Saa$S solution keep track of user activities.

B. Have a nightly upload to the SaaS provider of the current user base based on API call.

C. Have users remove their SaaS accounts when they no longer need the service.

D. Have a weekly user management script maintain the SaaS user base.

Correct Answer: A

QUESTION 6

A company needs to meet the security requirements for Pll. Which of the following cloud service
models allows the company to have the MOST control to meet the security requirements?

A. SaaS

B. 1aaS

C. PaaS

D. Xaa$S

Correct Answer: B

Explanation/Reference:
Reference: https://www.omg.org/cloud/deliverables/CSCC-Cloud-Security-Standards-What-to-ExpectandWhat-to-Negotiate.pdf

QUESTION 7

A service engineer is trying to determine why one of the company’s SaaS solution is no longer
available. The

internal systems are responding and other online applications using the same SaaS solution are
responding as

expected.

Which of the following is the MOST common cause of the availability issue?

A. Cloud service provider outage

B. Automation/orchestration issue

C. Integration issue

D. Subscription issue

Correct Answer: C
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